2025 SMMARZEER. TFE BMFEMEE 1Rk - (HERR TR

(E1]

1)(a,) DAKE 7 5L,
a,=25607""1
a1+ a,+a;=4480 N5,
2560 4 25607 + 25607* = 4480

7

2_ 0
l+7r4+7°= 1

72+7—%:0

472+ 4r—3=0
(2r+3)2r—1)=0

3 1

=97

£HEDLY 7>0 ZOT r=%

a.=2560( L)z

- a,= <§> s
QMEY n=2 DL X

Sn _Sn—1: 10g2an

1 n—1
::1og22560<35>

=1log,2560 + (7 — l)logzé

=—n+10+1og,5
ZZTlog,a,>0<>n<10+1log,5
log,4 <log,5 <log,8 72D T,
2<log,5<3 &Y 12<10+1log,5 <13
S, >S,1(2=n=<12)
S, <S,(13=n)
1295 n DIEIXn=12---(&)

£V 5,<85,<..<S<Sp>83>.. 8BDT, S, 2HEK

(3){log,a,} IFHNH 9+ 1og,5, AE —1 DEEHFIL Y

S, =5 n{2(9+10g,5) +(n—1)(~1)



2025 SMMARZEER. TFE BMFEMEE 1Rk - (HERR TR

= n(—n+19+2l0g,5)

fl0) = a(—x+19+210g,5) LB E, y=If(0] OFF TEEDES 1245,

logd  1—1log2
log2  logy2

19+210g25 =23.64... 73:0)(“, |Sl|7 |523|, |Sg4| @b\fﬂﬁ‘ﬁi‘%d\c‘: 73:6

ZZ T log,b= =2.322... &Y

S, =%(18—|—210g25) —9+1log,5 =11.32..

523=%-23(—4—|—210g25)
— 23(l0g,5 —2) = 7.40...
524=% 24(—5+2log,5)= —4.27...

. NI=] 71-> —_ cee K
S| S, MENE 72D n DIEIE n=24---(F) 0 19+2log,5 =23.64...

(0] [(TIO]

x=e%cost. y=e"sint

(1) % =ae“cost —esint (%)

4y
dt

(5 (5
=e*(a’+1)

2| >0 X v

0| = e/ a?+1 ()

=aesint +e“cost (%)

(3) p=e(cost,sint)

Z:e“t(acost —sintasint +cost) & V)

p-v=e’*(acos’t —sintcost + asin’t 4+ sintcost) = ae?*
|5l =e
|v| =e“\Ja®*+1 XV
2at
a-e a
cosf = =

eat.eat /a2+1 /a2_|_1

SO tIZESRVWER- (B



2025 SMMARZEER. TFE BMFEMEE 1Rk - (HERR TR

3 .
4 a :\/— RIS
<>«/az+l 2
2a=+/3a’+1

soa=0DD4a’=3a’+1) £EVYVa=3 (&

(EI] [TIV]
f0) = (x4 2Px—2)

yl\

2_4)2=16y

4+4y

ITxl=4+4Jy

x2=4—4/y £ T3

fl—x)=flx) BDT y=fx) 1% y BB L THITH 205

(x
x2
Z

t t 1
V(t):ngoxlzdy—ngoxzzdy—l— ng x,°d y
t

sxS;fydnySj(l—fy)dy

z %t _2 %1
o 57| 4 3= 57|



2025 SMMARZEER. TFE BMFEMEE 1Rk - (HERR TR

=8m‘\/?—47rt—|—%7r ()

d 3 1
A =0 r¥aL 1=+ THY
dt 9
isLore Lypnso iz
9 T
1

¢ 0 3 1

d

V) — 10|+

V(t) N |7
HREN S
t=%’6‘%d\c‘:tté

1 1 1 1 4
V<§>—871' §'§—4ﬂ' ?‘i‘gﬂ'
3

27

[EIV]

(1)y’:%x 50, 0lExE -2

. . a £
REES t(x t)—i—za
2

a 4 A
y= —7x+d+%‘”<m>

Q) n, b xBEDARTEE O LTHL |, DEX tan<20—%> <H5

tan 6 = —% DT

T
tan<20—7>



2025 SMMARZEER. TFE BMFEMEE 1Rk - (HERR TR

2at
12— aq? 12
@1 amx Lo o (14 ) BsEEEOT
Ry I RSN el AL VPO
f A Y 9 =%

2ayt=xt>—a’x+ a’t
xt:+ala—2y)t—a’x=0
HIZDWTDEFREAT
x=0721D ala—2y)=0 1D a’x=0
ax0 XV

x=0 /"D y:%

gﬁﬁ@%ﬁéﬁém@>
(T 1]

(1)t2=1+2sinfcosf XV
sin20 =1t>—1

flO)=t>—1+./21t

=124+ /2¢t=1 (&)

Q=2 sin<0 +%>

T T T
< PR —_— L
4_0—|—4<27r+4 i)

S22 ZtSV2 ()

—1§sin<0—|—%>



2025 SN FEERE, TFER

BUERRE  FERG - (HEBRE TR

Bo=(r+2) -3

2 2
—J2 <i1<2 &Y

t=+/2 TEKXIES3

t= —@ @k%sin(ﬁ—k%) :—%
0+%=%7L‘,1—617‘C

Oz%x,%x

t=+2 0)<‘:ii'sin<0+%> —1

-

3 0=%7r,%7r CE/ME _% ()

0 :%’C‘%kﬁﬁ 3B

(T
a,=512=2°
a1+az+a3:a1<1+7+7’2>:896 7})36,
, 896 277 7
Irr4r =g =" =73
7
2_ 1
l+7r4+7°= 1
472+ 47 —3=0
(2r+3)2r—1)=0
r>0 &Y r:l
2
_ 99, l)"‘l_ 10<l>”...%
Va,=2%(5) =245

2)b,=log,a,=10g,2"0""=10—n --(



2025 XA FEER

T HEME  EK BB TR

(3)S,=31b,
k=1

=SV (10— %)
k=1
:1()%_7’(”—"'1)
2

_ 1.5, 19
=—Gnit5n
:_%< > 197)

1 19\2 361
——3<”—7> Ty

n=910 DL IHFKT 45 -(&

=)

Wn=19 DL % S, =0 &4V [S,| IEHN

son=19 (&)



